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13. f% . (1)16x -4 =3x +3,
16x —3x =4 +3,
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13°
(2)3x-6(x—-1) +60=2(x+3),
3x —6x +6 +60 =2x +6,
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-5x=-60,x=12,
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3(20x -3) =5(10x +4) =15,
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A IRIZET, 15 10x =44,
ABAN 1,1 =4.4, Ll v =4.4 2
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Pix=-1-2m,
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1),
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i (90 —x) 7,
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RBEAR. (1.2 x15 = 10) x50 + (25 x
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432 +0. 8 =540,

—WMEATECH (350 +480) x0. 8 =664
(350 +540) x0.8 =712,
MITT 45 :315 +432 - 664 =83 of 315 +
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RANERTT:2(5x +3) =6x -3(1 -
2x),
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N x +2y =300,
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2x +3y =510,
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y =90,
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(2) 3K m iR, WG 3K (80 — m)
Rk

. m >40,

?:{120m+90(80—m) <8 500,
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9.2<a<14 10.50 11.36 12.144°

13. fift: Va-5+1b-21=0
a-5=0,b-2=0,"a=5,b=2,
I3 PIRE DL % & -
(Uilnélﬁcﬂgkiﬂ W =i:2,2,5, 4~
e = A2 3 Z FOR T8 =i ik
Jo , AT 5
(2) AR PRy 5, W =3 02:2,5,5, ¥
AR ZHIE P Z AR T8 =y e o
FTLALL 2 15 Jyitn (K i) SERE = A T ) A
K212,

4. . la+b+cl —la-b-cl —la-b+cl
—la+b-cl

=(a+b+c)-(-a+b+c) - (a-b+
c)—(a+b-c)

=a+b+c+a-b-c-a+b-c-a->

15, ff  AEH BN R gl 2K €D 5
AB HIZZF A5 F

LDFB = £C + LA =32° + 90°
= 122°,
. /BDC = /DFB + /B =122° +21°
= 143°,

© S bR 15 B9 LBDC = 148°, 143°
#148°,
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16. f#. /A + 2 C=180° B UIF -

17.

18.

KEL B )

/152854, 21+ £2=90°,
" BE ,DF %y %54y £ ABC, £ ADC,

" /ABC=2/2,/ADC=2/1,
" JABC+ /ADC=2( /1 + /2) =2 x
90° =180°,

LA+ LABC+ £ C+ L ADC =360°,
LA+ /£ C=180°,
(1)iFM - AC LAB, .
/ ABC + / ACB =90°,

£ BAC =90°,

/NAC + /ABC = 90°, .. /NAC
= / ACB,
- MN//PQ.
(2)f#:" LABC = £ NAC +10° = L ACB

+10°,

LACB + £ ABC =90°,
. LACB + £ ACB +10°
. LACB =40°,

. LABC =50°,

" BD ¥4y £ ABC,

. LABD :%ABC =25°,

=90°,

"/ BAC =90°,
. LADB =90° -25° =65°,
fitt: (1) IE O, 8518:2 LP = LA,
Hitg. o 2PCD =P+ £ PBC, £ACD
=/A+ LABC,

- P SJ& L ABC FIAM £ ACD B)F-514%
FIZE R
S.2/4PCD=2ACD,2 ~ PBC = £ ABC,
S 2(4P+ £LPBC) = £A+ LABC,
2/P+2/PBC=/A+ £ABC,
2/P+ /ABC=/A+ /ABC,
SL2/4P=/A,
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B C D B ¢ E
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(2) E@H,
HY DU 8 N ff F0 e B A, £ BCD =360°
- /LA- 2D~ LABC,
- /. DCE =180° - (360° - LA - 2D -
LABC) = LA+ 2D+ £LABC -180°,
H=MIE Mo a TS, LPCE = LP
+ £ PBC,
" BP,CP /iy %2 £ ABC Tl £ DCE {3
TR,

/L PBC = % /ABC, /PCE =

1
—£LDCE
ZLC,

S LP+ LPBC:%( LA+ 2D+ LABC
-180°) =

%( LA+ /D) +%LABC -90°,

LP:%( LA+ 2D) -90°,
v LA=a,/D=p,
LP:%(am) -90°,

(3) K@, fEK AB 3¢ DC [ IE K 28
T F,
o L F=180° - -, [AH(1) 5 LP =

1
—LF
2 28,

o —

c op_Lieno— @y —opo L
P = (180° —a -B) =90° -

1
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1.B 22D 3. A 4B 5.B 6A 7.B

9.190 10.140° 11.90 12.40

(2) ADEF {fyiifl =3 ><4—%><2x4—

%x2x1—5x2x3:12—4—1—3

:40

(3) Bt DE 2% Bt AB ¥ 8 13
5.,

©. BEFAT BT AD.

S ANEFTR

s LA =30°, £.B=50°,

- LACB =180° - /A - /B =180° -
30° -50° =100°,

-+ AABC2 ADEF,

. /. DFE = / ACB =100°, EF = BC,




. EF -CF =BC -CF B} EC =BF,
" BF =2, EC=2,

16. fi#. (1) LABE =162°, ~ DBC =30°,
. LABD + £ CBE =132°,
" ANABC<2 ADBE,.. £/ ABC = / DBE,
. LABD = £ CBE =132° +2 =66°,
R 2 CBE (R EEHCH 66°,
(2). ANABC=2 ADBE,
S.DE=AC=AD +DC =4. 8 ,BE =BC =
4.1,
- ADCP 1 ABPE JE {11 = DC + DP
+CP +BP + PE + BE =DC + DE + BC +
BE =15.4,

17. f#.(1)AB//CD H AB=CD #{i%&
(2)-AB//CD,.. /. DCE = /B,
HI = M B W S A 1R L, 13 £ CDF =
/. DFE - £ DCE,

. /CDG = /CDF + /FDG = / DFE -
/ DCE + / FDG,

¥ ADEF Wi, /DEF = 180° -
2/ DFE,
7E ADFG ", / DGF = 180° - / FDG
- / DFE,

"~ LEDG = £ DGF - £/ DEF =180° -
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£ FDG - / DFE - (180° -2 /. DFE) =
/. DFE - / FDG,

.+ DG4y« CDE, . / CDG = / EDG,

. LDFE - +DCE + L FDG = £~ DFE
- LFDG,

. L FDG :%LDCE,EIJAFDG :%LBO

1

oo LB =60% . LFDG = x 60°

=30°,
(3)2a,

18. fif: (1) LB =30°, 2 C=40°,
- LBAC=180°- /B - /. C=110°,
¥ AABC GEILTO i A NIRRT e | e
IS AAB'C'HY TS, B' 57 = ML)
T CFN A fE[]—HZ L,

/BAB" = 110°, .. HFH g% &

/> 110°,
(2)A7E (1) By FEml I, FRAk 2 ERs , #
MOC A, C e — B2 &, W BE s 5
/ BAB' =180°,
. £ CAB' =180° -=110° =70°,
RIAE (1) PSRl L, PRaksiie i 2/ 70°
i, 88 C A, C' e[ —HZ L





